STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION HIGHWAY DIVISION 13

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: JULY 17, 2024 AT 2:00 PM

CONTRACT ID: 12123936

WBS ELEMENT NO.: 13B.101111, ETC

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BUNCOMBE, BURKE, MADISON, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY COUNTIES

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS

LOCATION:

DIVISION WIDE

TYPE OF WORK: BRIDGE DECK REPAIR AND EXPANSION JOINT

REPLACEMENT/REPAIR UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A STRUCTURE PROJECT.

BID BOND IS NOT REQUIRED.

ADDRESS OF BIDDER

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **BID FORM**

Contract Number: 12123936

TIP Number:

N/A

FA Number:

N/A

WBS Element:

13B.101111

County:

Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Description:

Bridge Deck Repair and Joint Replacement/Repair Upon Request on

Various Interstate, Primary, and Secondary Routes.

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Mobilization	10	EA	2575.00	25,750.00
2	SP	Silicon Joint Replacement (Less than 1" Wide)	500	LF	34.00	17,000.00
3	SP	Silicon Joint Replacement (1" to 2" Wide)	500	LF	40.00	20,000.00
4	SP	Silicon Joint Replacement (Greater than 2" Wide)	500	LF	42.00	21,000.00
5	SP	Foam Joint Seals for Preservation	500	LF	40,00	20,000.00
6	SP	Preformed Silicon Expansion Joint (1" to 2" Wide)	400	LF		12,000.00
7	SP	Preformed Silicon Expansion Joint (2" to 3.5" Wide)	400	LF	45.00	18,000.00
8	SP	Asphalt Joint Repair/Replacement (18"-24" Wide, w/ Plate)	100	CF	365.00	36,500.00
9	SP	Elastomeric Concrete for Preservation	50	CF	592.00	29,600.00
10	SP	Concrete/Asphalt Deck Repair (Hot Applied Mastic Asphalt Binder)	15,000	LB	2.60	39,000.00
11	SP	Concrete/Asphalt Deck Repair (Hot Applied Synthetic Polymer Modified Resin)	15,000	LB	2.80	42,600.00
12	SP	Class II Concrete Deck Repairs - HES (0-15 SF)	200	SF	450.00	90,000.00
13	SP	Class II Concrete Deck Repairs - HES (Greater than 15 SF)	200	SF	500.00	100,000.00
14	SP	Temporary Lane Closure (2-lane, 2-way Roadway)	40	EA	1,000.00	40,000.00
15	SP	Temporary Lane Closure (Multi-lane Roadway)	40	EA	2,200,00	88,000.00
16	SP	Lane Closure Shift (Multi-lane Roadway)	25	EA	1.00	25.00

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **BID FORM**

Contract Number: 12123936

TIP Number:

N/A

FA Number:

N/A

WBS Element:

13B.101111

County:

Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Description:

Bridge Deck Repair and Joint Replacement/Repair Upon Request on

Various Interstate, Primary, and Secondary Routes.

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
17	SP	Nighttime Temporary Lane Closure (2-lane, 2-way Roadway)	25	EA	1,000.00	25,000.00
18	SP	Nighttime Temporary Lane Closure (Multi-lane Roadway)	25	EA		61,875.00
19	SP	Nighttime Lane Closure Shift (Multi-lane Roadway)	40	EA	1.00	40.00

TOTAL BID FOR PROJECT:_	\$685	,790 ^{.00}	
Contractor: Applied Polymerics Address: 131 St. James Way	s Inc.		
Phone: 336.789-6159		56-2021	982
Contractor's License Number:LICENSE	# 46705		
Authorized Agept:) Joya Han Sim	mons	Title:	President
Signature: interest in	ons	Date: _	7/15/24

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION **HIGHWAY DIVISION 13**

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: JULY 17, 2024 AT 2:00 PM

CONTRACT ID: 12123936

WBS ELEMENT NO.: 13B.101111, ETC

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BUNCOMBE, BURKE, MADISON, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY COUNTIES

TIP NO.:

N/A

MILES:

N/A

ROUTE NO.:

VARIOUS

LOCATION:

DIVISION WIDE

TYPE OF WORK: BRIDGE DECK REPAIR AND EXPANSION JOINT

REPLACEMENT/REPAIR UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A STRUCTURE PROJECT.

BID BOND IS NOT REQUIRED.

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number: 12

12123936

TIP Number:

N/A

FA Number:

N/A

WBS Element:

13B.101111

County:

Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Description: Bridge Deck Repair and Joint Replacement/Repair Upon Request on

Various Interstate, Primary, and Secondary Routes.

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Mobilization	10	EA	.01	.10
2	SP	Silicon Joint Replacement (Less than 1" Wide)	500	LF	10-12-00	17,500.00
3	SP	Silicon Joint Replacement (1" to 2" Wide)	500	LF	55. ⁵⁰	27,500.00
4	SP	Silicon Joint Replacement (Greater than 2" Wide)	500	LF	55. °°	27,500.00
5	SP	Foam Joint Seals for Preservation	500	LF	55.00	27,500.00
6	SP	Preformed Silicon Expansion Joint (1" to 2" Wide)	400	LF	55.00	22,000.00
7	SP	Preformed Silicon Expansion Joint (2" to 3.5" Wide)	400	LF	65.00	26,000.00
8	SP	Asphalt Joint Repair/Replacement (18"-24" Wide, w/ Plate)	100	CF	300.00	30,000.00
9	SP	Elastomeric Concrete for Preservation	50	CF	525.00	26,250.00
10	SP	Concrete/Asphalt Deck Repair (Hot Applied Mastic Asphalt Binder)	15,000	LB	3.00	45,000.00
11	SP	Concrete/Asphalt Deck Repair (Hot Applied Synthetic Polymer Modified Resin)	15,000	LB	3.25	48,750.00
12	SP	Class II Concrete Deck Repairs - HES (0-15 SF)	200	SF	300.00	60,000.00
13	SP	Class II Concrete Deck Repairs - HES (Greater than 15 SF)	200	SF	250.00	50,000.00
14	SP	Temporary Lane Closure (2-lane, 2-way Roadway)	40	EA		100,000.00
15	SP	Temporary Lane Closure (Multi-lane Roadway)	40	EA	2,500.00	100,000.00
16	SP	Lane Closure Shift (Multi-lane Roadway)	25	EA	.01	, 25

NORTH CAROLINA DEPARTMENT OF TRANSPORTATION BID FORM

Contract Number:

12123936

TIP Number:

N/A

FA Number:

N/A

WBS Element:

13B.101111

County:

Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Description:

Bridge Deck Repair and Joint Replacement/Repair Upon Request on

Various Interstate, Primary, and Secondary Routes.

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
17	SP	Nighttime Temporary Lane Closure (2-lane, 2-way Roadway)	25			50,000.00
18	SP	Nighttime Temporary Lane Closure (Multi-lane Roadway)	25	EA	2,500.00	62,500.00
19	SP	Nighttime Lane Closure Shift (Multi-lane Roadway)	40	EA	. 01	.40

Contractor: Baxley Construction Company Inc. Address: 4805 Green Rd, Suite 100, Rajeigh, NC, 27616
Address: 4805 Green Rd, Suite 100, Rajeigh, NC, 27616
Phone: 919-986-1519 Federal Id: 56-1245083
Contractor's License Number: 11115
Authorized Agent: Brandon Baxley Title: President
Signature: Date: 71-2024

TOTAL BID FOR PROJECT: \$720,500.75